
Equations 
1. Yes 
2. T=2 
3. X=-8 
4. All real #s 
5. X= -3/8 
6. X=8 cones 
7. X= 24 years old 
8.   

 
9.   
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Inequalities 
1. B ≤ 10 
2. x ≤ 10 
3. 13 movies or less 
4. 8 months or less 
5. All real #s 
6. m < -11 

 

Transformations 
1. A(3,-1), B (1,-4), C(1,1) 
2. A(1, -3), B(4,-1), C(1,-1) 
3. A(1,6), B(4,4), C(1,4) 
4. A(3,9), B(12,3), C(3,3) 
5. A(-1,-3), (-4,-1), C(-1,-1) 
6. A(-1,3),B(-4,1), C(-1,1) 
7. A(3,-3), B(6,-5), C(3,-5) 
8. A(-3,1), B(-1,4), C(-1,1) 
9. A(-6,3), B(-3,1), C(-6,1) 
10. A(½, 3/2), B(2, ½), C(½, 

½) 
11. Reflection about the y-

axis 
12. Q’R’ 

Angle Pairs 
1. 1&3, 2&4, 5&7, 6&8 
2. 1&6, 4&7 
3. 1&5, 2&6, 4&8, 3&7 
4. 2&5, 3&8 
5. #1 congruent, #2 

supplementary, # 3 
congruent, #4 
supplementary 

6. X=5 
7. X=13 
8. 86 degrees  

 
Angle Sums 
1. X=104  
2. X=12 
3. N=9 
4. X=50 
5. 50 degrees, 84 degrees, 46 

degrees 
 Exponents 

1. 128 
2. 32 
3.    

 
 

4.   
 

5.   
 

6.   
7.   
8. 1/16 
9.   

 
10. 1/4  
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Scientific Notation  
1.   
2. 472,000 
3.   
4.   
5.   
6.   
7.    

 

2.67 × 10−5 

7.5 × 108 
1.26 × 106 
8.0 × 10−6 
3.0 × 10−4 
1.8 × 100 

Radicals 
1.  11.1 
2.   
3.   
4.  13 
5.   
6.  3 
7.    

 
8.   
9.  C 
10. D 

 

8 5𝑥 
6 10 

-5 3 
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5𝑥𝑦2 2𝑥 

Real #s 
1. 0.36 repeating 
2. No answer. Should be 

19/20 
3. 33/20 
4. 2.6 
5.   
6.   
7. < 
8. 5/2, root 10, 3.6 
9. 33%, 7/3, root 6, pi 

 
 

9 
11 

Pythagorean Thm 
1.  No 
2. Yes  
3.  12 
4.  5 
5.    
 

 

5 2 

Volume 
1.  TYPO:  height 6 ft 96𝜋, 

301.44 ft cubed 
 

2. 36𝜋, 113.04 m cubed 
3.  12 m 
4.   Sphere:  256/3 𝜋 
         Cone:  135 𝜋 
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